EARAROBREBRT —5 XN—ZXBISH—F 2023568256 (H) 3EFR#8H

¥ S%3mE 18IS lEE] B8 BRI
[xE<] 1 7% :8,000,000 3 23 :3,200,000 3 33 :2,000,000H , 43%:1,200,000 3 ., 5 3 :800,000
B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
N TRHRY : 1-1- A ()
115l5 | @FUTI4—5 4 4 ;52_0 2.(1_2).7 1-1-1-1 | 37.9|100.6 | 10 gz) e
R:N—EVIv— B:HEY LENBEKS
Y < —cS ARG — : -6-5- MTRLT R
. | v2—vrI=33 B 3 s 2.(153).6 4-6-5-4 [ 36.9| 91.3 | 2 (ﬁ; =§J|lﬂ§
RiFRF BF—INITSVZa— ESHhI7—LA
4 3 | REwER 2:13.8 3-3-5-4 |37.1] 89.6 | 1 458 | BOEN ER)
3 4 Y~/o0-7 54.0 (1 1/4) o |ER8
R:Yh/0530Y B h—0-1XF Pu e ]
i =-~ 3 | ¥R 2:13.9 4-3-5-6 |37.0| 88.5 | 9 464 | BE—F (FR)
4 2| XANDATSVH " 54.0 (/2 ) ) TPk
R:Fvh—0 ®:xAMAVNZvO A+ FEEI
°= o 3 | EEZER 2:14.0 10-10-9-6 |37.0| 87.5 | 4 | 450 |FBRE &R
5011 |RAANZTAR # 5.0 (1/2) 2 | FFARI—L=—vvT
RVIVN—=RAF—h B:T77IU—-VYVT EhILIS
W 4 5 | HALLSAT 2:14.3 2-2-2-2 |37.8]85.4 | 5 408 |HEBFDN (RW)
618/9|®UYsIIL 56.0 (1 3/4) (1) | XEFIE
RiZvF—74)L B:HFyNRLT FKBUZ
NS = WERS : -6-2- LRET (R
- 3| TUVIYF 475 i 3 3 2(71;1:)3 7-6-2-2 | 37.8| 85.4 | 6 ?fztz) tém% ER)
RYN/O5YY B:Y7Iik—UvT FUFYT7—L
YGRS ERER 3 -8-5- B (EH)
o 0| -1 B o7 B 2.(124).6 7-8-5-6 |37.6| 82.3 | 3 21_982 ;gﬂ;i
R:TSvIIAR B:DOAILRFZTUA ARET 7 —L
S~ e BOFX : -8-9- FERAILE (FER)
917|7 | 7OV RFU— i o4 B 2(.11;12.)7 7-8-9-6 |37.7| 81.5| 8 21:3 BRAm
RIET7RAT7 B:F7RIAPIUUY =5 &5
s S % 3 | M. FA—0O 2:16.0 4-5-4-10 |39.1] 71.9 | 7 | 48 |EREED ERN
10178 | Y—7¥aNILk 54.0 ®) -4) SAFIU—A—R ()
R:T7AV=—RIL B:LFVLA BOKMS
[ BN
Eh' 50.3-37.9
NOVIA L | 12.4-11.2-11.1-11.8-11.7-11.8-12.4-12.4-12.3-12.7-12.9
@ I1—JF—BEBIEfI
13—7F— 5-9-4(2,6,8) (3,7,10)1
20—7F— 5=9-(2,4)8(3,6) (7,10)1
3al=zr= 5=(9,3)8(2,6,4,10) (1,7)
43—F— 5=(9,3) (6,4)-(2,1,7,10)8
o ILRE
B 5 4,710M AR 5-6 830 & 5-6 4,780 3EE 4-5-6 1,690H
B B 5 440 4-5 840M /B E 5-6 4,150 3EE 5-6-4 31,480H
6 130 4-6 1604 o= 5-6 14,160
4 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



